B ER T 2R 20234538 4 T LA A R

R B v 54 )1 ; - ;
it 4 < k| Wi L7 | &k Y35 | WidL | 280 | 4B | YLWG | W% VRS | WAk | 0%E | SR | JEE | R | EK | 0N | =9 | Bk | BN | BE | TR
HRIME y ME | #u | Bt | it & " 23
2830 2452 378 5 [20 |10 [20 |16 |8 [10 |8 |10 [16 |10 |36 [16 |15 [20 | 8 |10 [10 |32 |38 [28 |12 | 8 6 6
SR Bt CE S 4 40 34 6 2 2 2 9000
pa - 4 16
[(NSES RN 20 4100
VA= T/ - 4 4 2 2
R RIES LIVA= T/ - 139 14 2 2 4 2 2 2
21%%5 e € i N I 4 160 10000
O geEpR . MgmT) | SREEE 7 4 3
— 87
+ATH L/ E R 4 102 4200
- 15 3 2 5 3 2
— 58
KK B TR /e 4 67 4200
- 9 2 3 2 2
89
s B /)
BUR BTl it &% 3 A 31k = 4 105 12 2 2 2 2 2 2 4200
LR 4 4
— 179
) o /i
A LR R AL -t 4 210 28 2 2 3 3 4 4 2 4 2 2 4200
LR 3 3
EHAEETREE (BE 55
Tl TAEGEL, TR [/ EiEyE 4 68 4100
) - 13 3 3 2 2 3
Hahfk /Y] 4 76 65 11 2 4 2 3 4200
ZIEHE (BE L. . _
TR . i) H/OEEyE| = 4 196 169 27 2 4 3 3 5 2 4 2 2 4200
EiVa=pri Yk i R— 30 4 2 2
RS SEAR - 4 36 4200
LA 2 2
EER RS /gl | 4 36 32 4 2 2 4200
BB T TR H/ ik 4 36 30 6 2 2 2 4200
MR (BE Lk MR s _
e N i Il I IR I I L ! : ‘ - il P
S REHARST | ey 6 6
)
MRS (BEE:
TRATEBE TR . WATEY (F/ k| 4 116 99 17 3 2 3 6 3 4200
TR
VA= iz - 135 15 4 2 3 4 2
HFE TR T 4 155 4200
3 GREEEE 5 5
ﬁ RS TR /gy = 4 75 64 11 2 2 2 3 2 | 4200
AR S REI TR M/ EEmE = 4 35 29 6 2 4 4200
H/OEgyE| = 65 8 4 4
24 TR 4 76 4200
LA EUE 3 3
W 2 LLVA= T/ - 4 36 31 5 2 3 4200




b = 66 8
PR L2 4 76 4200
LR 2
i = 30 4
PR A TR 4 36 4200
LREEUE 2
Wl TR B LVA= priky/bL L B— 4 76 65 11 4200
o gk 66 7
o TAR 4 76 4200
SRR 3
o B iVA= priky/b: i B— 64 9
LhTRE 4 76 4200
LREEUE 3
B L - 65 8
LR 4 76 4200
LR EUE 3
HRERY LR H - 4 36 29 7 e
i = 39 4
I 5 46 4200
LREEUE 3
X = 20
A SCHBEE 3 2 Bk H 4 46 20 4 4200
LR EUE 2
N GEit2 BiVA= privk /b B— 4 76 66 10 4200
BBt HOEEYE|] | 4 36 30 6 4100
X = 24
HiE H/H 4 56 24 4 4100
LR EUE 4
+ATH i — | 4 6 6 4200
KK B TR L — 4 6 6 4200
B [omapessaar | = | | 4 6 6 1200
% HA TR AL i 4 6 6 4200
i
8 TR TR
(gl TRER., T H — 4 6 6 4200
FEEM
AT iE 4 12 12 4200
KK LR H# 4 7 7 4200
f
2o [wrmesotaae | m | — | 4 9 9 1200
k3 HATREILAN b 4 24 24 4200
i
* ELRLE TR
(gl TRER., T H — 4 16 16 4200
FEEM
SEzIEeA bl - 4 4 4 4200
A BIE A
(BEEl: ZTELRE. & H - 4 4 4 4200
iwigk)
Bk HHOR bl - 4 4 4 4200
) % % [ 22 4 B - 4 4 4 4200
Bl 4 v L et 4 4 4 00




o

F A

2 =S
(BEE: MRREST

B B S 2 & =11 5 5 1200
SRR G TR
(BTl AT G T il et 4 4 4 4200
. ATRS LD
WETRETEZ b = 4 5 5 4200
BrRERAE S TR il = 4 5 5 4200
AR A% S ) TR i -t 4 5 5 4200
2 LR il = 14 4 4 4200
A2 H = 4 4 4 4200
AR T2 b = 4 4 4 4200
IR A TR il = 4 4 4 4200
BT b = 4 4 4 4200
Hb R TR il = 14 4 4 4200
EEawi b = 4 1 1 4200
PRIEN il = 4 4 4 4200
BHERA TR H = 4 4 4 Gy
HH H = 5 4 4 4200
p'e - 4 2
N SCHLEE 3 2 BRI 4 4200
i = | 4 2
DA E R il = 4 4 4 4200
flaites b -t 4 4 4 4100
ba = 4 2
Yl 4 4100
# = | 4 2

e DUERBAETREARK . KRB RA UUAEIRFTE ST R R




